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CHEMISTRY

In which of the following pair, each
member produces the same gas ?

(A) K, KO,
(B) Na, Na,0,

(C) Ca, CaH,
(D) Ba, Baﬂz

The volume strength of 1.5 N H,O,
solution is

(A) 4.8 litres

(B) 5.2 litres

(C) 8.4 litres

(D) 8.8 litres

In which of the following, the ratio of
the sizes of cation to anion is smallest ?

(A) NaCl
(B) KCi
(C) MgCh

(D) CaF,

A solid “x" on heating gives CO, and a
residue. The residue with H,O form ‘y’.
On passing an excess of CO, through ‘y’
in H)0, a clear solution of ‘z’ is
obtained. On boiling ‘z’, ‘x’ is reformed.
o 23 -

(A) Ca(HCO,),

(B) CaCO,

(C) Na,CO,

(D) K,CO,

Which is the most basic oxide ?
(A) ZnO

(B) MgO

© ALO,

(D) N,Oq

6.

10.

11.

Al,O, becomes anhydrous AICl, upon
heating

(A) with NaCl

(B) withdry Cl, +C

(C) with Cl,

(D) with dry HCI gas

Which of the following is not formed ?
(A) NCI,

(B) AsF,

(C) SbClg

(D) PFq

The product of NH, - NH, + H,0,
Ca?*

—> 15
(A) 0,

(B) H,
(C) NH,
D) N,

The color of liquid O, is

(A) pale yellow

(B) pale blue

(C) green

(D) red -

The basicity of H,PO, is
(A) 1

(B) 2

© 3

(D) None of these

CrO, dissolves in aqueous NaOH to give
(A) Cry0F

(B) Cror

(C) Cr(OH),
(D) Cr(OH),
BIMCS
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(A) K,KO,

(B) Na, Na,O,

(C) Ca,CaH,
(D) Ba, BaO,

2 15 N H,0, foewa it simaafws v &

(A) 487X
(B) 52#RX
(C) 8.4WX
(D) 8.8 FRX

3 P § ¥ Peed R T ETE ¥
FTHRT T A T 9 2

(A) NaCl
(B) KCI

(C) MgCl,
(D) CaF,

4. UHIW ¥ W HFA W CO, T4 WY |

I B & | ANy oo | Sifufear Yy’
¥ ¥ |y % ot uie | s F CO,

TEE 1 W UE T e 2 e
TR R YT Y
(A) Ca(HCO,),

(B) CaCO,

(€)' Na,CO,

(D) K,CO,

5. W W T s
(A) ZnO
(B) MgO
(C) ALO,
(D) N,05
BIMCS

10.

[

ALO, T TE ™ A W Y AICl, T
mt: .

(A) NaCl% ®™

(B) Y= CL +CHFT™

(C) CL,%¥™

(D) ¥ HCI 1\ & 9™

fre F @ 9 @ & a7
(A) NCIq e
(B) AsF; |

(C) SbClq

(D) PFq

NHZ-NH2+H£02—EE:$IW§
(A) O,
(B) H,
(C) NH,
D) N,

8 O, 1 T ¥ &
(A) & e
(B) ®etehr Hren
C) &

(D) o«

H,PO, ®t e &
(A) 1

(B) 2
(C) 3

(D) T ¥ 5ig 7t

CrO, "l NeOH % et 3 d
2~

(A) Cr,0]

®) CrOy

(C) Cr(OH),
(D) Cr(OH),



12. The following ion in*its aqueous solution

14.

16.

18 colorless :

(At. no. : Sc = 21, Fe = 26, Ti = 22,
Mn = 25) |

(A) Sc*
(B) Fe?*
() Ti*
(D) Mn2*

The oxidation number of Ni in
[Ni(C,0,),1* is

(A) 3

(B) 4

€ 2

(D) 6

Which of the following is an optically
active compound ?

(A) 1-butanol

(B) 1-propanol

(C) 2-chlorobutane

(D) 4-hydroxy heptane

In sodium fusion test of organic
compounds, N is converted to

(A) NaNH,

(B) NaCN

(C) NaNO,

(D) NaNO,

Which one of the following is called
inorganic graphite 7

(A) B '

(®B) B,C

(© ByH

(D) BN

17.

18.

19.

20.

21.

Glass + HF = ?
(A) SiF,

(B) H,SiF

(C) H,Si0,

(D) NajAlFg

How many Chiral C are there in B-D -
(+) — glucose ?

(A) 5
(B) 6

(C) 3

(D) 4

Which is the strongest acid ?
(A) CI-CH,-CH,-0OH

. ~OH
35
OH
&
NO,
OH
(D) @:
CH;

This compound forms a sodium salt
upon reacting with NaNH, |

(A) CH,
(B) CH,NH,
(©) CeHg
(D) CyH,

What is the electrophile when RCI +
AIC£3 are used in Friedel Craft reaction ?

(A) CI*

(B) AICI,

() X

D) AlCh

BIMCS



12.

13.

14.

is.

16.

B ST ST STelT FreraT & TR e

(ITHW] AT : Sc = 21, Fe = 26, Ti = 22,
Mn = 25)

(A) Sc*
(B) Fe™*
o
(D) M.nz""

Ni ®t [Ni(C,0,),]* o Sireiitor Jem
¢:

(A) 3

(B) 4

©) 2

(D) 6

fr=r O | B W1 v | A g2

(A) 1-9gHe

(B) 1-wofet

(C) 2-Feiiege
(D) 4-Eregiert ¥2

wErE At F feaT T 0w |§ N
Wﬁﬂﬁ'ﬂﬁ!ﬂﬂﬁﬂﬂlt:

(A) NaNH,
(B) NaCN

(C) NaNoO,

(D) NaNO,

et o @ B PR AEEE TR & ?
(A) B

(B) B,C

(€) ByHg

(D) BN

BIMCS

17.

18.

19.

21.

w4+ HF 5 ?

(A) Siky

(B) H,SiFg
(C) H,S10,
(D) N%AIF 6

B-D — (+) - 7o & R R C & 2
(A) 5 |

(B) 6
C) 3

(D) 4

B HETTH A 82
(A) CI-CH,-CH,~-OH

OH

®) @/
« ~OH

e

NO,

OH
D) @ |

CH; |

7 A NaNH, % T Sfea 50 0
&) CH,

(B) CH;NH,

(C) CgHg

D) GCHg

Wee W afufea § RCI + AICL &
IET TR W B RIS
ERAEH)

a) cit
(B) AICI,
() R*
(D) AICI



Nylon-6 is made from
(A) Isoprene

(B) Adipic acid

(C) Caprolactam
(D) Styrene

Which polymer has different type of
bond between monomers from the other
_three ?

(A) Cellulose
(B) Wool
(C) Silk
(D) Nylon

In Buna-S, S stands for
(A) Sulphur

~ (B) Soft

(C) Styrene
(D) Sodium

Which one is incorrect name ?

(A) Propyne

(B) -But-Z-yne

(C) Pent-3-yne

(D) But-1-yne

Lewisite, a war gas, is made by reacting
CH =CH with -

(A) HCN

(B) HCI
(C) AsCl,

D) 0,

(A) CH,=CHCI

(B) CH,CH(OOCCHj),
(C) CH,CHO

(D) CH,CH,CHO

29.

31.

32.

(C,Hy),Pb is an example of
(A) Negative Catalyst

(B) Positive Catalyst

(C) Solvent

(D) Fuel

Which metal is used as a part of catalyst
in Fischer — Tropsch method ?

(A) Mn

(B) Co
(C) Fe

(D) Pt

The octane number of this alkane is 100 :
(A) 2,2, 4-Trimethylpentane

(B) Hexane

(C) Heptane

(D) Butane

Identify organometalic compound(s).
(A) CH,ONa

(B) C,H¢SNa

(C) CH Mgl

(D) All

Which one is called Westrosol ?
(A) CCl,

(B) CCl,=CHCI
(C) CHCI,

(D) CHCLCHC,

CH,CH,OH + HI T20-§CH3CI-IQI

=

(A) NaHS
(B) NaNO,

(C) AgNO,
(D) AgNO,
BIMCS



P G AH e & 7
(A) W

(B) oqe-2-314A
(C) U=-3-HA1G

(D) =130

R, W NS IMKCH=CH &
Y T AARRAT R & € ;

(A) HCN
(B) HCI
(©) AsCl,

(D) O,

COOH
CH = CH CHSHE!-_'_

(A) CH,=CHCI

(B) CH,CH(OOCCH,),
(C) CH,CHO

(D) CH,4CH,CHO

> FT IR T

BIMCS

31.

32.

(C,Hy), Pb T T ¥ -

(A) TOTHS IOH
(B) HARH® SBIE
©€) faems

(D)

frer — o fafiy o it Ui SO &
T W § 2
(A) Mn

(B) Co
(C) Fe

(D) A

(A) 2,2, 4-Tafe=
(B) A
(C) A

(D) %A

ARt (@e-afew) A @
e |

(A) CH,0ONa

(B) C,HsSNa

(C) CH,Mgl

(D) wt

# A Y
(A) CCl,

(B) CCl,=CHCI
(C) CHCl,
(D) CHCLCHCL,

CH,CH,0H + HI ——CHCH)l

H,0
+X v 50 CH.CH.OH Xt
yHCI 372
(A) NaHS
(B) NaNO,
(C) AgNO,
(D) AgNO,



37.

39.

X + Br, = CH,CH,Br + a gas + a salt.
Xis

(A) CH,CH,0H
(B) CH,COONa
(C) CH,CH,SH
(D) CH,CH,COOAg

Which is hygroscopic, sweet in taste and.

non-poisonous ?

(A) CH,OH

(B) CH,OH - CHOH - CH,0H
(C) CH,0CH,

(D) CH,CH,0H

Which is used as a solvent during
reactions with Grignard reagent ?

(A) CyHOC,H,

®B) C;H;OH

(©) CHNH,
®) CCl,

This is added to ether to test its purity :
(A) C,H,ONa

(B) KI
(C) KCI

CH,CO\
(D) Cl{3C0/0

This is oxidized to prepare methyl ethyl
ketone :

(A) 2-Propanol

(B) 1-butanol

(C) 2-butanol

(D) t-butyl alcohol

This does not convert a ketone to an
alcohol :

(A) ZalHg + HCI
(B) Ni
(C) LiAMH,

(D) NalHg + H,0

10

41.

42.

The number of isomeric aldehydes for
CsH,Qis

(A) 2

" (B) 3

C) 5
©) 4

Which is a mixed ketone ?
(A) Propan-2-one
(B) Butan-2-one

"(C) Pentan-3-one

(D) None

This does not react with Fehling’s
solution ;

(A) CH,CHO
(B) (CH,),CO
(C) HCHO

(D) HCOOH

This does not undergo aldol
condensation :

(A) HCHO
(B) CH,CHO
(C) CH,COCH,

(D) CH,CH,CH,CHO

Acrolein is
(A) Ketone
(B) Aldehyde

(C) Polymer
(D) Protein

FeSO, + H,0, is called
(A) Fehling’s solution
(B) Benedict’s solution
(C) Schiff’s reagent
(D) Fenton’s reagent

BIMCS



34, X+Br2—1-CHaCHzBr+IE$ﬂﬂ+wm

X¥: _
(A) CH,CH,OH
(B) CH,COONa
(C) CH,CH,SH
(D) CHyCH,COOAg

A AR, A @ 7 AR Sfeden & 2
(A) CH,OH

(B) CH,OH - CHOH - CH,OH

(C) CH,OCH,

(D) CH,CH,OH

9 e afieds &t et o
faemas % w0 o wan i s g 2

(A) C,H;0C,Hy
(B) C,H.OH
(C) C,HsNH,

(D) CCl,

. P S i e R W w v
%t At & 2

(A) C,H,ONa
.(B) KI
(©) K

CH, CO\
Lo CH, CO / »

W& i @ Afee e Siee W
a2

(A) 2-WioSier

(B) 1=

(C) 2™

(D) t-TJETRA Tehieret

I€ TF B B U TeHRE W giEtid
T e
(A) Zn|Hg + HCI

(B) Ni
(C) LiAMH,

(D) NaHg+H,0

BIMCS
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41.

42.

CH,0 & for W Wom & wwaaE
mmt

(A) 2

(B) 3

(C) 5

(D) 4

oS b aER €
(A) WHH-2-314
(B) ®RA-2-3H
(C) ¥=-3-31
(D) % it =@

ax Sefer faeraw & T B @t &
(A) CH,CHO
(B) (CH,),CO

(C) HCHO
(D) HCOOH

(A) HCHO |
(B) CH,CHO
(C) CH,COCH,

(D) CH,CH,CH,CHO

hE &
(A) BRH
(B) UieeEEs

(C) =™
(D) W=

FeSO, + H,0, % &
(A) efem e
(B) #feae faeraw
©) fow afivres
D) %= s



47.

49.

Y
H
R,

X and Y are respectively

(A) CH,;CH,NH,, CH,COCI
(B) CH,CONH,, CH,CH,C!
(C) CH;COOH, CH,CONH,
(D) CH,CONH,, CH,COOH

CH,CN The compounds

Dry distillsion of (CH,000),Ca

produces
(A) CH,COOH

(8) CH,CHO
(C) (CH,),CO
(D) CH,COOCH,

Electrolysis of a concentrated aqueous
solution of a compound gave C,H, on
anode. The compound is

(A) CH,COOK

(B) CH,CH,COOK
(C) CH3C00C2H5
(D) CH,OCH,

210 °C

The product of CO + NaOH - > is .

10 atm
(A) €O,

(B) CH,COONa

(C) HCOONa
(D) CH,

The compound insoluble in acetic acid is

. R ™ o
dawvs

Ay
(B) CaCO;

© 7 \ca

Ccoo/
(D) Ca(OH),

12

S1.

52.

Alkaline hydrolysis of an ester is called
(A) Neutralization

(B) Esterification

(C) Polymerization

(D) Saponification

What is biuret ?,

(A) CH,CONH,CH,
(B) NH,CONHCONH,
(C) NH,CONH,

(D) NH,OH

What is grape-sugar ?
(A) Starch

(B) Glucose

(C) Fructose

(D) Sucrose

How many Stereoisomers glume; has ?
(A) 10 (B) 13 |
C) 15 (D) 6

What is the bond
monosaccharides in starch ?

(A) Glycosidic
(B) Peptide

(C) Phosphodiester
(D) Ester

Glucose reacts with
(A) Schiff’s reagent
(B) Phenyl hydrazine
(C) NaHSO,

(D) ]31'2 + Hzﬂ

Which one is an aldoketose ?
(A) Fructose

(B) Glucose

(C) Maltose

(D) Starch

BIMCS



47.

49.

A €
(A) CH,CH,NH,, CH,COCI
(B) CH,CONH,, CH,CH,C!
(C) CH,COOH, CH,CONH,
) CH,CONH,, CH,COOH

(CH,CO0),Ca % I HHa W IR
TAAE

(A) CH,COOH

(B) CH,CHO

() (CH,),CO

(D) CH,COOCH,

w Adfie & o weie faea &
YA T TS W C,H & | e &

(A) CH,COOK

(B) CH,CH,COOK
(C) CH,COOC,Hj
(D) CH,0CH,
210°C ¥

CO + NaOH > B IR
10 atm

(A) CO,
(B) CH,COONa

(C) HCOONa
(D) CH,

I difires wifes e & e g

fFAN Many
V) waws

(B) CaCO,

© T \ca

(D) Ca(OH),

BIMCS

51.

52.

53.

55.

56.

5.

TR FT ST FA-ATTSA FEATN &
(A) FERAHIHTT

(B) TR

(C) EEABIHT

(D) WEAIHT

AFGEFE?

(A) CH,CONH,CH,
(B) NH,CONHCONH,

(C) NH,CONH,
(D) NH,OH

S-S T & 7
(A) = '

(B) TIHIN
(C) Wi

(D) Fwi™
mtmﬁmmn

(A) 10

(B) 13
© 15
(D) 6

=Y ¥ GRS & WA B W 9 T



58. The formula of Vitamin ‘C’ is

39.

ﬁli

(A) CoH,;,04N
(B) CHyOp
(C) C4H{NO,
(D) C;oH,gN;04

This is not water soluble vitamin :
(A) D

B) C

© B,

(D) Folic acid

The deficiency of this vitamin makes it .

difficult to see in dim light :
(A) A
(B) B
© C
D) D

This vitamin is less available to
vegetarians :

(A) A

(B) By,

(C) B,
(D) C
In the benzene sulphonation, the active

specie is
(A) HSO,

(B) SO,

(C) SO,
(D) SOy

Benzene has

(A) 3 delocalized electrons
(B) 4 delocalized electrons
(C) 6 delocalized electrons
(D) 12 delocalized electrons

14

64. This is a meta directing group in mono-

67.

substituted benzene during substitution
reactions :

(A) -C=N -

(B) -NH,

(C) -OH

D) -0~

An organic compound contains
C =40%, H = 6.66% and rest is oxygen..
'_I‘he empirical formula of the compound
is

(A) CH,0

(B) CHO
© GCHO,
(D) CH,0H

Paper chromatography has following
movile  and  siationary  phases

respectively :
(A) liquid, solid
(B) solid, liquid
(C) gas, liquid
(D) liquid, liquid

In Lassaigne’s test, the following reagent
1s used for testing the presence of both
N&S:

(A) AgNO,

(B) FeCl,
(C) NaZS

CH, COO\
®) ca,cm/m

For a second order reaction

k = % * a(;r_x)if the concentrations of

two reactants A and B are
(A) [A]=[B]
(B) [A]>[B]
(C) [A]l<[B]
(D) In all cases

BIMCS



58. FefmCwmg@Et
(A) CoH704N
(B) CeHgOg
(©) CgHsNO,
(D) CygHygN70¢

59, JE e o e Prefim adi b
' (A) D
(B) C
(C) B,
(D) wifers 3re

60. I Tyt =t oot e wEw |§ @
HleTF AL

(A) A
(B) B
€ C
D) D

61. ::ﬁzrﬁammﬁﬁﬁmmﬁm
(A) A
(B) By,
(©) B,

D) C

62. A=A & TERHYA | WY W ¥
(A) HSO]
(B) SO,
©) so,

(D) SOy

63. FTRHE
(A) 3 frenfrs g
(B) 4 Ty W
(©) 6 Taenfm WA

(D) 12 frenfe @A
BIMCS

67.

7 ARafaeEiE asie % WoeeE
Ffufiear & 2R Ae Pl v E

(A) -Cs=
(B) -NH
(C) -OH
(D) -0~

w b de § C = 40%,
H = 6.66% 3 9w 0 & | 4f &

wﬁqﬂ%
(A) CH,0

(B) CHO
(C) C,H,0,

(D) CH,OH

T A (YR BRI § nRreler
aﬁrﬂmmﬁm:t:

(A) %a, 3
(B) 3, 5d
(C) M, &
(D) 78, %49

= e §, fre afisds N @i S gt
Iﬁmﬂﬂﬁiﬂ?mﬂmﬁiﬂ%:

(A) AgNO,
(B) FeCl,
(C) Na,S

CH, COO\
(D) CH, coo/Ph

Wﬁ‘\’ﬁﬂﬂ-ﬂﬁﬂﬁmﬂ?ﬂ’lﬁk=-
gy A 3R B gt sfERE Fi

a-.x}
i
(A) [A]=[B]

(B) [A]>[B]
© [Al<[B]
(D) Wt ofitferfert 4
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71.

72.

100 ml H,0 and 50 ml ether were mixed

with Succinic acid. At equilibrium, ether
phase had 0.127 g and H,O phase had

1.843 g Succinic acid. The distribution
constant of Succinic acid between water-
ether

(A) 7.25
(B) 14.50
(C) 3.62
(D) 10

The Van't Hoff factor of benzoic acid
solution in benzene is 0.5. In this
solution, benzoic acid

(A) Dissociates

(B) Forms dimer

(C) Remains unchanged
(D) Forms tetramer

pH + pOH is equal to
(A) 0
B) 7
C) 14

(D) 10

In DNA, the complementary base pairs
are

(A) Aand T, G and C
(B) Gand A, T and C
(C) AandT,Gand U
(D) Uand A, C and G

At what temperature a reaction will be at
equilibrium at 1 atm if AH and AS are
30.58 kJ and 66.1 JK™! respectively ?
These values do not change with
temperature in any significant fashion.
(A) 4202K

(B) 4626K

(C) 429K

(D) 642K

74.

75.

76.

16

10 g hydrogen is reacted with 64 g
oxygen. The amount of water formed
will be (in moles)

(A) 3
(B) 4
€ 1
(D) 2

In Freundlich adsorption isotherm, the

value of '11; is between

(A) Oand 1
(B) Oand0.1
(C) 2and4
(D) 1and10

Dettol is a mixture of
(A) Terpineol and bithional

(B) Chloroxylenol and bithional

(C) Chloroxylenol and terpineol
(D) Phenol & iodine

What is not produced within human
body ?

(A) Vitamin
(B) Hormone

(C) Enzyme
(D) DNA

Which one is an anti-histamine ?
(A) Chloramphenicol

(B) Diphenylhydramine

(C) Norothindrone

(D) Omeprazole

| 1 | FU—— _—
Y dACS dIT

(A) Hydrocarbons

(B) Esters

(C) Amines

(D) Fatty acids
BIMCS



70.

71,

72.

100 ml H,0 3R 50 ml ¥R & whrF

e o T R T | wrTEen R
# wa #0127 g A HO # wa A

1.843 g wfrafre® ans uRm TR | TEd

& ey St s &1 feror o &
(A) 7.25
(B) 14.50
(C) 3.62

(D) 10

T I F FA e o I TR A
o 0.5 ¥ | 7 e |, a=is s

(A) ﬁeﬂﬁamtn
(B) Bew e Y |
(C) il ward |

(D) TR et |

pH + pOH TR ¥
a) 0
B) 7
©€) 14
(D) 10

DNA % &% @R g §
(A) AFRT,G3RC
(B) G3RA, THRC
(C) A3RT,G3ARU

(D) U3RA,C3ARG

T e fFR aE W A W
gt ? ¥ 1 atm ¥ 3R AH 3R AS ¥ wW

®UY: 30.58 kJ M 66.1 JK1 ¥ | 3w oM
mtmhﬁﬁmmﬁmﬂ

e i
(A) 4202K
(B) 462.6K
(C) 429K
D) 642K

BIMCS
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74.

73,

76.

10 g TSP 64 W JEdSH % WY
aﬁfﬂrﬂmwﬁrﬂr&'ﬁ@aﬂ)?

(A) 3

(B) 4
©) 1

D) 2

Fraferar s T £ 1 T
dadaae:
(A) 031
B) 03%0.1
(C) 23R4
(D) 13R10

T2 UE Tasor & e

(A) Zfifaier A e
(B) TR AR AR
(C) wFRRIdAe 3R Zfafsie
(D) Tt 3R A=

(B) TRY

(D) Tar I



81.

‘Which one is a set of isoelectronic

species ?

(A) N,, CO,,CN-
(B) N,H,S,CO
(C) N,,CO,CN"
(D) Ca, Mg, Ci

The solution of this compound will show
maximum ionic conductivity :

(A) K [Fe(CN)g] '

(B) [Co(NH,)ICly

(©) [Cu(NHy),ICl,

(D) [Ni(CO),]

Which one is paramagnetic ?
[at. no. Cr = 24, Fe =26]

(A) [CHCO)
(B) [Fe(CO)g)

©) Fe(CN)g*

(D) [Cr(NH,) "
Which is paramagnetic ?
(A) CLO

®) Clo,

© Lo,

D) Ch0q

If saturated solution of Ba(OH), has pH

ule,itsK,PiE

(A) 4x10°9M3
(B) 4x107" M3
(C) 5x10°°M3
(D) 5% 107 M3

Pure water can be obtained from sea
water by

(A) Centrifugation

(B) Plasmolysis

(C) Reverse Osmosis

(D) Sedimentation

Standard electrode potential is :

Fe?*/Fe, E° = - 0.44, Fe>*/Fe?*, E° = 0.77
If Fe?*, Fe** and Fe blocks are kept
together, it will lead to

(A) increase in Fe>*

Which will have highest number of
isomers ?
(A) [Co(NH,),CL,)]
(B) [Ni(C,0,),(en),]™
(C) [Ni(en)(NH,),J**
(D) [Cr(SCN),(NH,),I*
d(8)

The rate == for reaction 3A — 2B is

equal to
_3dA)
(A) =3 4t

2
® 3%

(© ;%

d(A
@) +2%8

Which one has p, —d bond ?
(A) NO;
(B) SO;’
(©) BO;’
(D) CO;’

Serpeck’s process is used for bauxite

whirh hae fallawine main immirtu -
Y RAEYSLE ElRRel & %Rl N "“..ﬁ T N l.l..l.ltnl'-.l.l.l-J -

(A) SiO,
(B) Fey0,
(C) Fe;0,
(D) Ca0O

BIMCS
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82.

I T GG Sl e € 7
(A) N,, CO,, CN-

(B) N, H,S,CO

(C) N,,CO,CN-

(D) Ca, Mg, Ci

w At w1 e sfieaw e
HTeAeRdT T

(A) K,[Fe(CN)g)
(B) [Co(NH,)ICly
(€©) [Cu(NH,),ICL,
(D) [Ni(CO),]

T ¥ B FTEIE ¥ 2
[9TH] %41 Cr = 24, Fe =26]

(A) [Cr(CO)g]
(B) [Fe(CO)s]
(C) [Fe(CN)¢l*"
(D) [Cr(NH,)*.

B SFGEIEE T

(A) CLO
B) ClO,
() CLO,
D) ChO,

3% Ba(OH), % ¥qw faeraw &1 pH = 12
t:,?hw]n{mmtrﬁt;

(A) 4x10°5M3

(B) 4x1077 M3

(€) 5x10°5M3

(D) 5x1077 M3

——— '-1 T — el h- e
THRI T o YA T SHY HIMO gl Wi

RS RS At

Fe?*/Fe, E° = - 0.44, Fe>*/Re?t, E° = 0.77
I Fe?*, Fé*ahrFeﬂ?ﬂwwmr&
U A

(A) Fe3tagm |
(B) Fe*wam |

(©) iﬁ:mﬁaﬁamh

(D) Fe*wm |
rer 3 Py st s 64 2
(A) [Co(NH,),Cl,]

(B) [Ni(C,0,),(en),I™
(C) [Ni(en)(NHyJ* -

') [CH(SCN),(NHp,I*

3A — 2B aﬁﬁamuht%lmt

® 3a

B -244
© ___u -
(D) +2"(_1

feesip, —d T E?
(A) NO;
®B) SO’
(©) BOY
(D) €O}’

s fafy 3o steare & wies o wai =t

) mtmﬁwmmt

(A) SiO,
(B) Fe,0,
(C) Fe,0,
(D) CaO



91.

An ideal solution is formed when its

components :

(A) uvpon mixing show no change in
volume.

(B) upon mixing show no change in
enthalpy.

(C) upon mixing show neither change
in volume nor enthalpy.

(D) show high solubility. -

Which one of the following -'have
same Van't Hoff factor as that of

K [Fe(CN);] ?
(A) AL(SO,),
(B) NaCl
(C) AINO,),
(D) Na,SO,

How many kg of O, will be required for
complete combustion of 2.8 kg of
ethylene ?

(A) 2.8

(B) 64

(C) 9.6

(D) 96

The number of moles of KMnO, needed
to react with 1 mole of so';" in acidic
solution is '

4

A) 3

® %
) 1
(D) 3/5

Acetylene has following bonds between
the Carbon atoms :

(A) lo,2n

(B) 3o

©) 3n

(D) 20, In

At CMC, surfactant molecules :
(A) Hydrolyse .

(B) Dissociate

(C) Associate

(D) Dissolve completely

For the reaction CO(g) + Cly(g) *=
COCL(g), Ky/K. is equal to

(A) VRT

 (B) RT

©
©) 1.0

The conjugate base of OH™ is
(A) O

(B) O

(©) HO
(D) 0,

The precipitate of CaF, (K, = 1.7 X 10719

is obtained when equal volumes of the

(A) 100M Ca?* + 107M F~
(B) 102M Ca®* + 10°MF-
(©) 10°°MCa?* + 1003MF
(D) 10°M Ca** + 10°MF~

100. Washing Soda is

(A) Na,CO,-7H,0
(B) Na,CO, - 10H,0
(C) Na,CO,-3H,0
(D) Na,CO,

BIMCS



91.

e STy et & Fion | gek Hew
(A) PR w amgas # a9 aitads @
e | '
(B) foR W wdedt § wi dReds @

e |
(C) fiem W e ik et o #iY
REa e gt |

" (D) Hyw EeEmE TR A |

92.

93.

95.

fr & @ P TR R SR
K, [Fe(CN)4] % Sa= ¥ 2

(A) Aly(SO,),
(B) NaCl
(C) AI(NO,),
(D) Na,SO,

2.8 e oiret & oot wew & foe et
fisuT O, @t atrereaan st 2

(A) 28

(B) 6.4
(C) 9.6

(D) %6

s@%mmtmmmﬁt

flw KMnO, ¥ feR wiwr wfbe af
el speflg Regr d ooy

A 3

2
B) 3
(C) 1
(D) 3/5

wHifest & wRA wEmE ¥ d@e fe
(A) lo,2n

(B) 30

©€) 3n |
D) 20, 1In

BIMCS
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96. H T H W ySy 7

100.

(A) Fqufea &t 9 € |

B) fegfwe ot o & |

(C) WY&t o € |

(D) ot germviter & o & |

Fffimar CO(g) + Cly(g) w=== COCL(g)
% fg Kp/K . T & 5

(A) VRT

(B) RT

© =%

D) 1.0

OH m gt aww t

(A) O

B) O

(C) H,0

(D) 0,

CaF, (K, = 1.7 x 1071%) 7 g sy

o AR e W AGeET W e
ﬂﬁltm: B

(A) 10-4M Ca?* + 107 *M F-
(B) 1072M Ca** + 10°MF~
(C) 105M Ca?* + 10°3M F~
(D) 10°MCa®* + 10°M F-

uaA et ¥

@) Na,CO, - TH,0
(B) Na,CO, - 10H,0
(C) Na,CO,-3H,0
(P) Na,CO,

Yo



2.

Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
circles corresponding to the digits be blackened with Blue / Black ball point pen only.

TTEE & U] F P wE W e T/ we W e/ sy # den i B I-o W
FrgeT-HTer Wiwar ¥ |t |miﬂhﬂrwﬁﬂmﬂﬂmmﬁ=ﬂaﬁfmmﬁﬁﬂhﬂrmrﬂdﬂ
firds =ftelt / wreht e wz O @ o< |

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then
TR : ot et T 179682 & w wrdie-qfersr e 14390 ¥,

Q|C
OO
@0
0|®
OO,
®©|®
Q|0
®®
OO
@@

@@@@@@@@@o
IEEEY EEEEEE
X LEEEEEEE
I LEEEE
XX EEEEEEE
EEEEEEL

(C) Process for Filling up OMR Answer-Sheet (Iov-uwes wr2-I1 wt vt wit wbean) :

1.

_ 'The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of

which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

e - Fre R E | e W 3 o R TR R SRt o R vt U ) i avgee & | et @ e
e % waifes 30 ooy & ane & s et @ et / sl @t a3 {6 dm | ot st seiar
e @t dfer | T & A S IE-TEE @ W R wmm

Example : If correct answer for question no. ‘?mlllcchom: ‘B’, then darken the circle in front of question no. 7 as

. shown below :

WO 9 e e 7 % T e ‘B Hﬂmhﬁmmﬁrm&tmrﬁﬁﬁﬁf&uﬁm}m

2.

fucd &

QNo.l @G O ©

Q. No. 2 @@@
QN7 @O0

(a) The circles, as described in C-1 above, are to be darkened by using Blue / Black Ball Point Pen only.
(%) IR w9 C-1 ¥ T T R e i el / wrelt dtw ezt g d oEn

(b) The shading should be dark and should completely fill the circle.

(w) it qoke J T o e e |

Continued on the next page.
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(c) Only one circle corresponding to the correct answer should be darkened as shown below :

() w8 I | T Haw T & et B T A G A A R g

Correct /T8 D@ © ©
Incorect /T D Q@O * OPOO » PFOO « O®OO
Incorrect/™0 AW @ WO o OPOO «» O OSO » OGO

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
-appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheets are: machine
gradable and it may lead to wrong evaluation.

(oM it %t et / et dher i e @ 4 % et v it v e e of o @ e 5 g
weifs @t it @ 1 W E, Wi e B T F B oRed w afee b | s O e
e R Rrert 2 ey it & e &, iR ST B weie g et e o § okt e W
v o o o Wk |
{¢)~--Ifihmbmmamﬁmlemmmmgﬁlmfﬂmmpmmmifwmpom is marked in any other
- fnérnér or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(®) u&wﬂmvﬁﬁuﬂ#ﬁfmﬂﬁmm%wmmmﬁﬂﬂmm#mm&aﬁn&
el | sy P S A 39 e WO B S

-Ron'ghfﬁ'orkmustnntbedonennﬂleDMRanswer*sheeLFmespacepmvidedinlhcquesﬁnnhonﬂetshouldoﬂy
" be used for this purpose.

" oY ST ST W IER-UAE T A AT & | O - mﬁmwmmmﬁmwt ECilrg o
LW W |

J .-'Wpﬁmﬂmﬂmgmwﬁhmmmmmmmpmdminmywaymm;mmmemm
- -will berejected.

TR O A wre” (e e s 3w o Pt o = forgp ¢ ol = P W € e

et i wedtrardt Tz @ & o |

.-, Cgndidatt-must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR

. Answet Sheet as this may lead to disqualification.
| TEE S T F afafte 38 W AR o wm W el e freme 7 T @ T o o gw sediart &
forr sl ST S T A ¥ 1L

For yerifi¢ation of your handwriting, it is necessary to write the prescribed Text completely which is printed on the
MWdfithmquﬂhﬂamwa-mmtmdﬂmwlyuwmmunsmﬁed space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

LA, FH-09% S U1 F 7L ifa maier w Freerar s wwafafy § qof v @ et s g s
it a3t o Fraife o ST St | gRaiey i & T 9 a1 O T SR W S SR-0ae / SRiRan
5y i s

. In case yon do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
- liable t/bée'rejected for which you yourself will be fully responsible.

| IR G $71.0H. SR ¥ TOR-09 & 7 o e v Pkt o vt et foea s - 1gg e o wen
¥ Foiw® iy sy = Qi w0 & Sewerdt o |
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